LOS ANGELES AREA	CERTIFICATE	OF ORIC	CIN ORIGINAL			
CHAMBER OF COMMERCE		VALIDATE, GO TO Certificate Number : LA-COO-53174-671be5e2e1536 ERIFY.FTGS.US Date : October 25, 2024				
Seller (Exporter) ORLY INTERNATIONAL 7710 Haskell Avenue	Transport Type Vessel	Los Angeles	Port of Loading Los Angeles			
Los Angeles California 91406 United States	Destination Country Kuwait	Destination Po Salmiya	Destination Port Salmiya			
Consignee ORLY INTERNATIONAL, INC	Export Date *******	Exporting Carri	er			
7710 HASKELL AVE VAN NUYS, CA 91406 United States	Import Permit Number	Bill of Lading /	AWB			
	Owner or Agent	Forwarding Age	ent			
Buyer (Importer) Remarks DISTRICT GENERAL TRADING & CONTRACTING CO. HAMAD AL MUBARAK STREET PO BOX 8958 SALMIYA, 22100 Kuwait Image: Contract of the second s						
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	(ind of Packages.)	Weight	Country of Origin			
Nail Polish/Treatments		1922.58 KG	United States			
H.S.Code: 3304.30.0000 Marks: 656 CARTONS LOTIONS H.S.Code: 3304.99.5000 Marks: 22 CARTONS	Con	151.93 KG	United States			
Detailor Brushes H.S.Code: 9603.30.9000 Marks: 1 CARTON	MERCE	22.24 KG	China			
Nail Files H.S.Code: 8214.20.0000 Marks: 12 CARTONS TE OF O		60.44 KG	Korea, Republic of (South Korea)			
LED LAMPS Accredited Chamber US H.S.Code: 8543.70.7100 Marks: 10 CARTONS		101.64 KG	China			
end of products						
CHAMBERS FEDER						
REA CHAMBED	 The above-mentioned goods or origin applicable in the country(i The information in this certificat Commerce ("LAACC") is accurate The Applicant undertakes to addertificate (or to whom the Certificate (or to whom the Certificate (or to whom the Certificate core) and completenes In consideration for the LAACC's 	es) to those goods. te and in any documents provided , true and complete. rise LAACC and any other person((iicate is provided to with the know ange in such information, or in th present upon request, such docur s of this certificate and accompar is issuance of this Certificate, the A	d above and comply with the rules of to the Los Angeles Area Chamber of s) to whom the applicant provides this ledge of the Applicant) promptly in writing e origin of goods. mentation as is necessary to verify the wjing documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.			

, California 91406 USA 818 994 1144 laskell Avenu 75 1111 • 818 eauty.com

Sold-To: DISTRICT GENERAL TRADING & CONTRACTING CO. HAMAD AL MUBARAK STREET P.O. BOX 9958 SALMIYA, 22100 KUWAIT

72 20653

ORLY LAQ .6fl oz/18ml VIXEN

COMMERCIAL INVOICE

Page 1 of 3

INVOICE NO .: SO343455 Date: 8/28/2024 Country of Origin: United States

Ship-To: DISTRICT GENERAL TRADING & CONTRACTING CO. HAMAD AL MUBARAK STREET P.O. BOX 9958 SALMIYA, 22100 KUWAIT

Attention: Mohammad Khalaik Telephone: 818-994-1001



COUNTRY USA

USA

USA

USA

USA

USA

USA USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA USA

USA

USA

USA USA

USA

USA

USA

USA

USA

USA

USA

USA USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA USA

USA USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

USA

ENTERING	
C.	
Change Street	1
	KY
Q	12
0	Ch
	Ø

. ,

	Telephone: 8				
Credit Terms: N90			DST/24001524		
Resale Remarks		Freight Terms	: OCEAN		
Kontarito		Troight Torms	. LA WOIRS		
Ln Item Nbr	Description	Qty UM	Net Pr	Ext Price	HS Code
1 2000340	ORLY LAQ .6fl oz/18ml HI, BYE	108 EA	2.625	283.50	3304.30.0000
2 2000341	ORLY LAQ .6fl oz/18ml LOOKING GLASS	108 EA	2.625	283.50	3304.30.0000
3 2000342	ORLY LAQ .6fl oz/18ml TWINKLING VEIL	108 EA	2.625	283.50	3304.30.0000
4 2000343	ORLY LAQ .6fl oz/18ml BIKINI BOTTOMS	108 EA	2.625	283.50	3304.30.0000
5 2000344	ORLY LAQ .6fl oz/18ml HEY BESTIE	108 EA	2.625	283.50	3304.30.0000
6 2000355	ORLY LAQ .6fl oz/18ml SCALES & TALES	108 EA	2.625	283.50	3304.30.0000
7 2000356	ORLY LAQ .6fl oz/18ml AMONG THE STARS	108 EA	2.625	283.50	3304.30.0000
8 2000357	ORLY LAQ .6fl oz/18ml MOONSTONE AURA	108 EA	2.625	283.50	3304.30.0000
9 2000358	ORLY LAQ .6fl oz/18ml DISCO DROP	108 EA	2.625	283.50	3304.30.0000
10 2000359	ORLY LAQ .6fl oz/18ml STAR FIRE	108 EA	2.625	283.50	3304.30.0000
11 2000345	ORLY LAQ .6fl oz/18ml SNATCHED	108 EA	2.569	277.45	3304.30.0000
12 2000346	ORLY LAQ .6fl oz/18ml TOUCH GRASS	108 EA	2.569	277.45	3304.30.0000
13 2000347	ORLY LAQ .6fl oz/18ml DEAR ABBY	108 EA	2.569	277.45	3304.30.0000
14 2000348	ORLY LAQ .6fl oz/18ml A VIBE	108 EA	2.569	277.45	3304.30.0000
15 2000349	ORLY LAQ .6fl oz/18ml HITS DIFFERENT	108 EA	2.569	277.45	3304.30.0000
16 2000350	ORLY LAQ .6fl oz/18ml THAT'S HOT	108 EA	2.569	277.45	3304.30.0000
17 2000351	ORLY LAQ .6fl oz/18ml ALL EYES ON HER	108 EA	2.569	277.45	3304.30.0000
18 2000352	ORLY LAQ .6fl oz/18ml CORAL CRUSH	108 EA	2.569	277.45	3304.30.0000
19 2000353	ORLY LAQ .6fl oz/18ml HELLO YELLOW	108 EA	2.569	277.45	3304.30.0000
20 2000354	ORLY LAQ .6fl oz/18ml POWER PINK	108 EA	2.205	238.14	3304.30.0000
21 20758	ORLY LAQ .6fl oz/18ml ARTIFICIAL SWEETENER	36 EA	2.363	85.05	3304.30.0000
22 2000361	ORLY LAQ .6fl oz/18ml BUBBLEGUM POP	108 EA	2.205	238.14	3304.30.0000
23 20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	72 EA	2.363	170.10	3304.30.0000
24 20844	ORLY LAQ .6fl oz/18ml CAKE POP	252 EA	2.363	595.35	3304.30.0000
25 2000059	ORLY LAQ .6fl oz/18ml CANYON CLAY	36 EA	2.363	85.05	3304.30.0000
26 20039	ORLY LAQ .6fl oz/18ml CLEAR	108 EA	2.363	255.15	3304.30.0000
27 20575	ORLY LAQ .6fl oz/18ml COFFEE BREAK	108 EA	2.363	255.15	3304.30.0000
28 20693	ORLY LAQ .6fl oz/18ml CONFETTI	216 EA	2.363	510.30	3304.30.0000
29 20702	ORLY LAQ .6fl oz/18ml COUNTRY CLUB KHAKI	36 EA	2.363	85.05	3304.30.0000
30 20670	ORLY LAQ .6fl oz/18ml CUPCAKE	144 EA	2.363	340.20	3304.30.0000
31 22502	ORLY FM LAQ .6fl oz/18ml DES FLEURS	36 EA	2.363	85.05	3304.30.0000
32 20942	ORLY LAQ .6fl oz/18ml FAUX PEARL	36 EA	2.363	85.05	3304.30.0000
33 20675	ORLY LAQ .6fl oz/18ml FIRST KISS	36 EA	2.363	85.05	3304.30.0000
34 20773	ORLY LAQ .6fl oz/18ml HALO	72 EA	2.363	170.10	3304.30.0000
35 2000096	ORLY LAQ .6fl oz/18ml HAPPY CAMPER	72 EA	2.363	170.10	3304.30.0000
36 20001	ORLY LAQ .6fl oz/18ml HAUTE RED	144 EA	2.363	340.20	3304.30.0000
37 200018	ORLY LAQ .6fl oz/18ml IT'S BRITTNEY, BEACH	72 EA	2.363	170.10	
38 2000185	ORLY LAQ .6fl oz/18ml JUST AN ILLUSION	36 EA	2.363	85.05	3304.30.0000 3304.30.0000
39 20935	ORLY LAQ .6fl oz/18ml JUST BITTEN	180 EA	2.363	425.25	3304.30.0000
40 2000100	ORLY LAQ .6fl oz/18ml KALEIDOSCOPE EYES	72 EA	2.363	170.10	3304.30.0000
41 20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	252 EA	2.363	595.35	3304.30.0000
42 20008	ORLY LAQ .6fl oz/18ml LIFT THE VEIL	36 EA	2.363	85.05	3304.30.0000
43 20294	ORLY LAQ .6fl oz/18ml LUXE	72 EA	2.363	170.10	3304.30.0000
44 20025	ORLY LAQ .6fl oz/18ml MA CHERIE	252 EA	2.363	595.35	3304.30.0000
46 2000004	ORLY LAQ .6fl oz/18ml MAUVELOUS	36 EA	2.363	85.05	3304.30.0000
47 20052	ORLY LAQ .6fl oz/18ml MONROE'S RED	108 EA	2.363	255.15	3304.30.0000
48 20006	ORLY LAQ .6fl oz/18ml NAUGHTY	144 EA	2.363	340.20	3304.30.0000
49 20064	ORLY LAQ .6fl oz/18ml ORLON BASECOAT	108 EA	2.363	255.15	3304.30.0000
50 2000156	ORLY LAQ .6fl oz/18ml PARCS & PARASOLS	36 EA	2.363	85.05	3304.30.0000
51 20944	ORLY LAQ .6fl oz/18ml PENNY LEATHER	36 EA	2.363	85.05	3304.30.0000
52 20416	ORLY LAQ .6fl oz/18ml PINK CHOCOLATE	36 EA	2.363	85.05	3304.30.0000
53 22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	252 EA	2.363	595.35	3304.30.0000
54 22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	396 EA	2.363	935.55	3304.30.0000
55 20754	ORLY LAQ .6fl oz/18ml PRELUDE TO A KISS	72 EA	2.363	170.10	3304.30.0000
56 20742	ORLY LAQ .6fl oz/18ml PURE PORCELAIN	108 EA	2.363	255.15	3304.30.0000
57 20076	ORLY LAQ .6fl oz/18ml RED FLARE	108 EA	2.363	255.15	3304.30.0000
58 2000060	ORLY LAQ .6fl oz/18ml RED ROCK	36 EA	2.363	85.05	3304.30.0000
59 2000190	ORLY LAQ .6fl oz/18ml RINSE & REPEAT	36 EA	2.363	85.05	3304.30.0000
60 2000021	ORLY LAQ .6fl oz/18ml ROSE ALL DAY	72 EA	2.363	170.10	3304.30.0000
61 22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASS	288 EA	2.363	680.40	3304.30.0000
62 20323	ORLY LAQ .6fl oz/18ml ROYAL NAVY	36 EA	2.363	85.05	3304.30.0000
63 20363	ORLY LAQ .6fl oz/18ml RUBY	72 EA	2.363	170.10	3304.30.0000
64 20067	ORLY LAQ .6fl oz/18ml SANTA FE ROSE	36 EA	2.363	85.05	3304.30.0000
65 20065AMARC	ORLY LAQ .6fl oz/18ml SEALON TOPCOAT	180 EA	2.363	425.25	3304.30.0000
66 22479	ORLY FM LAQ .6fl oz/18ml SHEER NUDE	108 EA	2.363	255.15	3304.30.0000
63 20205	ORLY LAQ .6fl oz/18ml SHINE	72 EA	2.363	170.10	3304.30.0000
	DRUMAQ 61 oz/18m1 SNUCCLE UP	36 EA	2.363	85.05	3304.30.0000
69	ORLY LAG .61 OF TOM SPIRIT CONNEC	36 EA	2.363	85.05	3304.30.0000
70 20943	ORLY LAQ Sto /18ml STILETTO ON THE RUN	288 EA	2.363	680.40	3304.30.0000
71 20664A	ORLY LAQ .6fl oz/18ml TIARA	72 EA	2.363	170.10	3304.30.0000
72 20653	ORLY LAO, 6fl oz/18ml VIXEN	108 EA	2 363	255 15	3304 30 0000

108 EA

2.363

255.15

3304.30.0000

73 22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	324 EA	2.363	765.45	3304.30.0000
74 2000152	ORLY LAQ .6fl oz/18ml LET'S GO GIRLS	36 EA	2.813	101.25	3304.30.0000
75 22012	ORLY FM WHITE TIP GUIDES	54 EA	1.590	85.86	3304.30.0000
76 22030	ORLY FM KIT .3fl oz/9ml PINK	36 EA	4.050	145.80	3304.30.0000
77 24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	432 EA	3.315	1,432.08	3304.30.0000
78 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	108 EA	3.315	358.02	3304.30.0000
79 24270	ORLY TRT .6fl oz/18ml POLISHIELD ORLY TRT .6fl oz/18ml SEC N' DRY	612 EA	3.315	2,028.78	3304.30.0000
80 24310 81 24510	ORLY TRT .6fl oz/18ml CUTIQUE	180 EA 36 EA	3.315 3.315	596.70 119.34	3304.30.0000
82 24554	ORLY TRT 4fl oz/118ml CUTICLE OIL+ (PLUS)	72 EA	8.134	585.68	3304.30.0000 3304.30.0000
83 24555	ORLY TRT 6pc 1fl oz/30ml CUTICLE OIL+ (PLUS)	200 6P	16.575	3,315.00	3304.30.0000
84 2440013	ORLY TRT .6fl oz/18ml ONE NIGHT STAND	108 EA	3.825	413.10	3304.30.0000
85 24340	ORLY TRT .6fl oz/18ml FLASH DRY	504 EA	3.825	1,927.80	3304.30.0000
86 26078	ORLY PED 16.5fl oz/488ml CALLUS ERASER	16 EA	9.690	155.04	3304.30.0000
87 26058	ORLY PRO 33.8oz/958g PURIFYING SOAK	16 EA	10.770	172.32	3304.99.5000
89 23038	ORLY PRO 1Gal/3.78L MOISTURIZING EXFOLIATO	16 EA	39.150	626.40	3304.99.5000
91 26048	ORLY PRO 33fl oz/976ml MASSAGE CREME	24 EA	9.450	226.80	3304.99.5000
92 23573	ORLY GARNET BOARD CANISTER 100PC PK	42 PK	38.000	1,596.00	8214.20.0000
93 23574	ORLY BLACK BOARD CANISTER 100PC PK	15 PK	40.000	600.00	8214.20.0000
94 23800	ORLY ESS NAIL RESCUE KIT	108 EA	7.200	777.60	3304.30.0000
95 24710 96 23135	ORLY ESS 18pc .17oz/5g BRUSH-ON NAIL GLUE ORLY ESS 2fl oz/59ml NAIL LACQUER THINNER	20 CN 144 EA	29.160 2.700	583.20 388.80	3304.30.0000 3304.30.0000
97 23113	ORLY 4fl oz/118ml GENIUS ALL PURPOSE REMOV	48 EA	2.250	108.00	3304.30.0000
98 23114 99 23115	ORLY 16fl oz473ml GENIUS ALL PURPOSE REMOV ORLY 32fl oz946ml GENIUS ALL PURPOSE REMOV	48 EA 120 EA	5.850 10.500	280.80 1,260.00	3304.30.0000 3304.30.0000
100 2460001	ORLY BRTHABLE TRT.6fl oz /18ml PROTEIN BOOS	108 EA	4.050	437.40	3304.30.0000
101 2460002	ORLY BRTHABLE TRT.6fl oz /18ml CALCIUM BOOS	108 EA	4.050	437.40	3304.30.0000
102 2460003	ORLY BRTHABLE TRT.6fl oz /18ml CUTICLE OIL	72 EA	4.050	291.60	3304.30.0000
103 2060051	ORLY BREATHABLE .6fl oz /18ml AFTER HOURS	108 EA	2.970	320.76	3304.30.0000
104 20949	ORLY BREATHABLE .6fl oz /18ml ALMOND MILK	324 EA	2.970	962.28	3304.30.0000
105 2060069	ORLY BREATHABLE .6fl oz /18ml ARE YOU SHERBI	72 EA	2.970	213.84	3304.30.0000
106 20908	ORLY BREATHABLE .6fl oz /18ml BARELY THERE	288 EA	2.970	855.36	3304.30.0000
107 20991	ORLY BREATHABLE .6fl oz /18ml BERRY INTUITIVE	72 EA	2.970	213.84	3304.30.0000
108 2060068	ORLY BREATHABLE .6fl oz /18ml BURST YOUR BUI	72 EA	2.970	213.84	3304.30.0000
109 2060015	ORLY BREATHABLE .6fl oz /18ml CHERRY BOMB	108 EA	2.970	320.76	3304.30.0000
110 20989	ORLY BREATHABLE .6fl oz /18ml CRYSTAL HEALIN	180 EA	2.970	534.60	3304.30.0000
111 20960	ORLY BREATHABLE .6fl oz /18ml DE-STRESSED DE	36 EA	2.970	106.92	3304.30.0000
112 20959	ORLY BREATHABLE .6fl oz /18ml DETOX MY SOCK:	36 EA	2.970	106.92	3304.30.0000
113 2060072 114 2010020	ORLY BREATHABLE .6fl oz /18ml DON'T SWEET IT ORLY BREATHABLE .6fl oz /18ml DOUBLE ESPRES	72 EA 72 EA	2.970 2.970	213.84 213.84	3304.30.0000 3304.30.0000
115 20951	ORLY BREATHABLE .6fl oz /18ml DOWN TO EARTH	72 EA	2.970	213.84	3304.30.0000
116 20990	ORLY BREATHABLE .6fl oz /18ml FLOWER POWER	72 EA	2.970	213.84	3304.30.0000
117 2010023	ORLY BREATHABLE .6fl oz /18ml FRESH CLOVE	72 EA	2.970	213.84	3304.30.0000
118 20917	ORLY BREATHABLE .6fl oz /18ml FRESH START	108 EA	2.970	320.76	3304.30.0000
119 2060071	ORLY BREATHABLE .6fl oz /18ml GIVE IT A SWIRL	72 EA	2.970	213.84	3304.30.0000
120 20961	ORLY BREATHABLE .6fl oz /18ml GOOD KARMA	36 EA	2.970	106.92	3304.30.0000
121 20910	ORLY BREATHABLE .6fl oz /18ml HAPPY & HEALTH	144 EA	2.970	427.68	3304.30.0000
122 20992	ORLY BREATHABLE .6fl oz /18ml HEART BEET	72 EA	2.970	213.84	3304.30.0000
123 20918	ORLY BREATHABLE .6fl oz /18ml JUST BREATHE	72 EA	2.970	213.84	3304.30.0000
124 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	396 EA	2.970	1,176.12	3304.30.0000
125 20909	ORLY BREATHABLE .6fl oz /18ml LIGHT AS A FEAT	252 EA	2.970	748.44	3304.30.0000
126 20905 127 20962	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	252 EA	2.970	748.44	3304.30.0000
128 20958	ORLY BREATHABLE .6fl oz /18ml MANUKA ME CRA. ORLY BREATHABLE .6fl oz /18ml MORNING MANTR	72 EA 252 EA	2.970 2.970	213.84 748.44	3304.30.0000 3304.30.0000
129 20919	ORLY BREATHABLE .6fl oz /18ml NAIL SUPERFOOL	36 EA	2.970	106.92	3304.30.0000
130 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTI	72 EA	2.970	213.84	3304.30.0000
131 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUL	144 EA	2.970	427.68	3304.30.0000
132 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLI	72 EA	2.970	213.84	3304.30.0000
133 20913	ORLY BREATHABLE .6fl oz /18ml PAMPER ME	612 EA	2.970	1,817.64	3304.30.0000
134 20988	ORLY BREATHABLE .6fl oz /18ml PATIENCE AND PI	144 EA	2.970	427.68	3304.30.0000
135 20965 136 20906	ORLY BREATHABLE .6fl oz /18ml PEP IN YOUR STE ORLY BREATHABLE .6fl oz /18ml POWER PACKED	72 EA 108 EA	2.970 2.970	213.84 320.76	3304.30.0000 3304.30.0000
137 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	324 EA	2.970	962.28	3304.30.0000
140 2010018	ORLY BREATHABLE .6fl oz /18ml RICH UMBER	72 EA	2.970	213.84	3304.30.0000
141 2060016	ORLY BREATHABLE .6fl oz /18ml RIDE OR DIE	108 EA	2.970	320.76	3304.30.0000
142 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	216 EA	2.970	641.52	3304.30.0000
143 2060003	ORLY BREATHABLE .6fl oz /18ml SHIFT HAPPENS	36 EA	2.970	106.92	3304.30.0000
144 2060070	ORLY BREATHABLE .6fl oz /18ml SOUR TIME TO Sł	72 EA	2.970	213.84	3304.30.0000
145 20964	ORLY BREATHABLE .6fl oz /18ml STAYCATION	36 EA	2.970	106.92	3304.30.0000
146 2060002	ORLY BREATHABLE .6fl oz /18ml SUPERNOVA GIRI	36 EA	2.970	106.92	3304.30.0000
147 20954	ORLY BREATHABLE .6fl oz /18ml SWEET SERENIT	72 EA	2.970	213.84	3304.30.0000
148 2060073	ORLY BREATHABLE .6fl oz /18ml TAFFY TO BE HEF	72 EA	2.970	213.84	3304.30.0000
149 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	144 EA	2.970	427.68	3304.30.0000
150 20911	ORLY BREATHABLE .6fl oz /18ml TLC	108 EA	2.970	320.76	3304.30.0000
151 2010008	ORLY BREATHABLE .6fl oz /18ml TRAILBLAZER	72 EA	2.970	213.84	3304.30.0000
153 20955	ORLY BREATHABLE .6fl oz /18ml VITAMIN BURST	36 EA	2.970	106.92	3304.30.0000
154 20956	ORLY BREATHABLE .6fl oz /18ml WHITE TIPS	396 EA	2.970	1,176.12	3304.30.0000
155 2060014	ORLY BREATHABLE .6fl oz /18ml YOU'RE A DOLL	72 EA	2.970	213.84	3304.30.0000
156 24903	ORLY BREATHABLE .6fl oz /18ml TREATMENT SHIN	612 EA	2.970	1,817.64	3304.30.0000
157 3430008	GELFX .6fl oz/18ml BUILDER IN A BOTTLE CONCEA	288 EA	13.200	3,801.60	3304.30.0000
158 3300000 159 3430004	GEL FX .6fl oz/18ml BUILDER IN A BOTTLE GELFX .6fl oz/18ml BUILDER IN A BOTTLE MILKY W	96 EA 396 EA	13.200 13.200	1,267.20 5,227.20	3304.30.0000 3304.30.0000
160 3430005	GELFX .6fl oz/18ml BUILDER IN A BOTTLE MILRY W	252 EA	13.200	3,326.40	3304.30.0000
161 3430006	GELFX .6fl oz/18ml BUILDER IN A BOTTLE LIGHT PI	324 EA	13.200	4,276.80	3304.30.0000
162 34100	GEL FX TRT .3fl oz/9ml ,NAIL TIP PRIMER	48 EA	4.080	195.84	3304.30.0000
162 34700 CHAMBER OF	GEL FX TRT .3fl oz/9ml EASY-OFF BASECOAT	288 EA	4.776	1,375.49	3304.30.0000
164 34704	GEL FX TRT .6fl oz/18ml EASY-OFF BASECOAT	144 EA	8.070	1,162.08	3304.30.0000
105	GEL FX TRL 6fl oz/18ml TOP2DOTTOM	36 EA	8.070	290.52	3304.30.0000
108	GEL FX INT 31 02 ChikNO CLECKINTOPCOAT	144 EA	4.560	656.64	3304.30.0000
167 3350005	GEL FX PEREEDT FIT NAIL FORM 300/PACK	24 EA	8.610	206.64	3304.30.0000
168 3350001	GEL FX BUILDER ZEBRA FILE 5 PK	40 EA	5.850	234.00	8214.20.0000
169 3350002	GEL FX BLDR BUFFER/FILE 5 PACK 180 GRIT/100 (200 EA	5.250	1,050.00	8214.20.0000

SEAL CALIFORNIA SOBOLOGO CONTRACTOR SOBOLOGO CON ORIGIN

CORPORS

USA USA

USA USA USA USA USA

USA USA USA USA USA USA USA

USA USA

USA CHINA KOREA USA MEXICO USA USA

USA USA USA USA

USA USA USA USA USA

USA USA

USA USA USA USA USA USA

USA USA

USA USA USA USA USA USA USA USA USA USA USA USA USA USA USA

USA USA USA USA USA USA

USA USA

USA USA USA USA USA KOREA KOREA

170 335	50023 0	GEL FX FAST FORMS 120pc BOX	84	EA	7.290	612.36	3304.30.0000	CHINA
171 301	13016 0	GEL FX .6fl oz/18ml KISS THE BRIDE	72	EA	6.728	484.38	3304.30.0000	USA
172 301	12009	GEL FX .6fl oz/18ml PINK NUDE	72	EA	6.728	484.38	3304.30.0000	USA
173 301	2474 0	GEL FX .6fl oz/18ml ROSE-COLORED GLASSES	72	EA	6.728	484.38	3304.30.0000	USA
174 301	12001 0	GEL FX .6fl oz/18ml WHITE TIPS	36	EA	6.728	242.19	3304.30.0000	USA
175 306	675 0	GEL FX CLR .3fl oz/9ml FIRST KISS	36	EA	4.000	144.00	3304.30.0000	USA
176 309	935 G	GEL FX CLR .3fl oz/9ml JUST BITTEN	36	EA	4.000	144.00	3304.30.0000	USA
177 300	008 0	GEL FX CLR .3fl oz/9ml LIFT THE VEIL	36	EA	4.000	144.00	3304.30.0000	USA
178 304	184 0	GEL FX CLR .3fl oz/9ml LIQUID VINYL	36	EA	4.000	144.00	3304.30.0000	USA
179 325	503 G	GEL FX FM .3fl oz/9ml POINTE BLANCHE	72	EA	4.000	287.99	3304.30.0000	USA
180 309	971 G	GEL FX CLR .3fl oz/9ml POWER PASTEL	36	EA	4.000	144.00	3304.30.0000	USA
181 309	943 G	GEL FX CLR .3fl oz/9ml STILETTO ON THE RUN	72	EA	4.000	287.99	3304.30.0000	USA
182 330	01 0	GEL FX 4fl oz/118ml 3-in-1 CLEANSER	120	EA	2.300	276.00	3304.30.0000	USA
183 330)11 G	GEL FX 16fl oz/473ml 3-in-1 CLEANSER	108	EA	5.370	579.96	3304.30.0000	USA
184 335	50000 L	ED 900 FX CORDLESS GEL LAMP- WHITE	60	EA	119.400	7,164.00	8543.70.7100	CHINA
185 335	527 C	ORLY SHORT DETAILER BRUSH	48	EA	3.750	180.00	9603.30.0000	CHINA
186 335	528 C	ORLY STRIPER BRUSH	40	EA	3.750	150.00	9603.30.0000	CHINA
187 209	926 C	DRLY LAQ .6fl oz/18ml FORGET ME NOT	14	EA	2.205	30.87	3304.30.0000	USA
188 200	00099 C	DRLY LAQ .6fl oz/18ml SYNTHETIC SYMPHONY	2	EA	2.205	4.41	3304.30.0000	USA
189 206	60009 C	DRLY BREATHABLE .6fl oz /18ml EARL GREY	36	EA	2.310	83.16	3304.30.0000	USA
190 209	950 C	ORLY BREATHABLE .6fl oz /18ml HEAVEN SENT	36	EA	2.310	83.16	3304.30.0000	USA
191 206	30006 C	ORLY BREATHABLE .6fl oz /18ml MOON RISE	36	EA	2.310	83.16	3304.30.0000	USA
192 201	10013 C	ORLY BREATHABLE .6fl oz /18ml CONGNAC CRUS	36	EA	2.310	83.16	3304.30.0000	USA
	•••••		50		2.510	00.10	000	

	Line Total	94,689.02
Currency: USD	TOTAL INVOICE	94,689.02







onal 7710 Haskell Avenue Los Angeles, California 91406 USA 800 275 IIII • 818 994 1001 • F 818 994 1144 orlybeauty.com

Г

Sold-To: DISTRICT GENERAL TRADING & CONTRACTIONCO HAMAD AL MUBARAK STREET SALMIYA, BLOCK -9 KUWAIT ZIP CODE 22100

٦

EXPORT PACKING LIST

Page 1 of 3

INVOICE NO.: SO343455 Date: 8/28/2024

Ship-To: DISTRICT GENERAL TRADING & CONTRACTIONCO HAMAD AL MUBARAK STREET SALMIYA, BLOCK -9 ZIP CODE 22100

KUWAIT

C		4 PLTS., 1758.98 kg us: 2 PLTS., 499.85 kg		tion: Mohammad Khalaik one: 971581073932			Contraction of the second seco
	Resale Remarks			Purchase Order(s): DS Ship Via: OC Freight Terms: Ex	CEAN		eeeeeeeeerERA
	ltem Nbr 2000340	Description		Qty UM	CTN# 1-3.	PLT#	e Licorf
	2000340	ORLY LAQ .6fl oz/18		108 EA 108 EA	4-6.	1	: Ciar
	2000342			108 EA	7-9.	1	:0:51
	2000343		ml BIKINI BOTTOMS	108 EA	10-12.	1	· 19
	2000344	ORLY LAQ .6fl oz/18		108 EA	13-15.	1	
	2000355		ml SCALES & TALES	108 EA	16-18.	1	" CALLE
	2000356		mI AMONG THE STARS	108 EA	19-21.	1	00000000
	2000357		mI MOONSTONE AURA	108 EA	22-24.	1	
	2000358	ORLY LAQ .6fl oz/18		108 EA	25-27	1	
10	2000359	ORLY LAQ .6fl oz/18		108 EA	28-30.	1	
11	2000345	ORLY LAQ .6fl oz/18	mI SNATCHED	108 EA	31-33.	1	ADIC
12	2000346	ORLY LAQ .6fl oz/18	ml TOUCH GRASS	108 EA	34-36.	1	ORIG
13	2000347	ORLY LAQ .6fl oz/18	ml DEAR ABBY	108 EA	37-39.	1	A
14	2000348	ORLY LAQ .6fl oz/18	ml A VIBE	108 EA	40-42.	1	Ore
15	2000349	ORLY LAQ .6fl oz/18	mI HITS DIFFERENT	108 EA	43-45.	1	
	2000350	ORLY LAQ .6fl oz/18	ml THAT'S HOT	108 EA	46-48.	1	
17	2000351	ORLY LAQ .6fl oz/18	mI ALL EYES ON HER	108 EA	49-51	1	
	2000352	ORLY LAQ .6fl oz/18		108 EA	52-54.	1	
	2000353	ORLY LAQ .6fl oz/18		108 EA	55-57.	1	
	2000354	ORLY LAQ .6fl oz/18		108 EA	58-60.	1	
	20758		MI ARTIFICIAL SWEETENER		61 62-64.	1	
	2000361		ml BUBBLEGUM POP	108 EA	65.66.	1	
	20087		ml BUS STOP CRIMSON	72 EA	67-73.	1	
	20844 2000059	ORLY LAQ .6fl oz/18 ORLY LAQ .6fl oz/18		252 EA 36 EA	74	1	
	20039	ORLY LAQ .6fl oz/18		108 EA	75-77.	1	
27	20575	ORLY LAQ .6fl oz/18		108 EA	78-80.	1	
28	20693	ORLY LAQ .6fl oz/18	ml CONFETTI	216 EA	645-650.	2	
	20702	ORLY LAQ .6fl oz/18	mI COUNTRY CLUB KHAKI	36 EA	81	1	
	20670	ORLY LAQ .6fl oz/18		144 EA	82-85.	1	
	22502		z/18ml DES FLEURS	36 EA	86 87	1	
	20942	ORLY LAQ .6fl oz/18		36 EA			
	20675	ORLY LAQ .6fl oz/18		36 EA	88 89.90.	1 1	
	20773 2000096	ORLY LAQ .6fl oz/18	mi HALO mi HAPPY CAMPER	72 EA 72 EA	91.92.	1	
	20001	ORLY LAQ .6fl oz/18		144 EA	93-96.	1	
37	2000018		ml IT'S BRITTNEY, BEACH	72 EA	97.98.	1	
38	2000185	ORLY LAQ .6fl oz/18	mI JUST AN ILLUSION	36 EA	99	1	
	20935	ORLY LAQ .6fl oz/18		180 EA	100-104.	1	
	2000100		mI KALEIDOSCOPE EYES	72 EA	105.106.	1	
	20016 20008	ORLY LAQ .6fl oz/18	mI KISS THE BRIDE	252 EA 36 EA	107-113. 114	1	
	20294	ORLY LAQ .6fl oz/18		72 EA	115.116.	1	
44	20025	ORLY LAQ .6fl oz/18	ml MA CHERIE	252 EA	117-121.630.631	1	
45	2000004	ORLY LAQ .6fl oz/18	ml MAUVELOUS	36 EA	122	1	
	20052		ml MONROE'S RED	108 EA	123-125	1	
	20006	ORLY LAQ .6fl oz/18		144 EA	126-129.	1	
	20064 2000156		mI ORLON BASECOAT	108 EA 36 EA	130-132. 133	1	
	2000100		mI PENNY LEATHER	36 EA	134	1	
	526141969			36 EA	135	1	
52	22000	ORLY FM LAQ .6fl o	z/18ml PINK NUDE	252 EA	136-142.	1	
		CRUYEMLAQ1.6fl o	z'tômi POINTE BLANCHE	396 EA	143-153	1	
54	207.04	ORLY LASY .bir oz/18	TO A KISS	72 EA	154-155.	1	
	20742			108 EA	156-158 159-161.	1	
90	20076	ORLY LAQ .6fl oz/18		108 EA	109-101.	I	





8

57 2000060	ORLY LAQ .6fl oz/18ml RED ROCK	36 EA	162
58 2000190	ORLY LAQ .6fl oz/18ml RINSE & REPEAT	36 EA	163
59 2000021	ORLY LAQ .6fl oz/18ml ROSE ALL DAY	72 EA	164-165.
60 22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSI	288 EA	632-639. 166
61 20323	ORLY LAQ .6fl oz/18ml ROYAL NAVY	36 EA	
62 20363		72 EA	167-168. 169
63 20067 64 20065	ORLY LAQ .6fl oz/18ml SANTA FE ROSE ORLY LAQ .6fl oz/18ml SEALON TOPCOAT	36 EA 180 EA	640-644
65 22479	ORLY FM LAQ .6fl oz/18ml SHEER NUDE	100 EA	170-172.
66 20295	ORLY LAQ .6fl oz/18ml SHINE	72 EA	173-174.
67 2000003	ORLY LAQ .6fl oz/18ml SNUGGLE UP	36 EA	175
68 2000016	ORLY LAQ .6fl oz/18ml SPIRIT JUNKIE	36 EA	176
69 20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	288 EA	177-184.
70 20664	ORLY LAQ .6fl oz/18ml TIARA	72 EA	185-186.
71 20653	ORLY LAQ .6fl oz/18ml VIXEN	108 EA	187-189.
72 22001 73 22030	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	324 EA	190-198. 414
73 22030	ORLY FM KIT .3fl oz/9ml PINK ORLY TRT .6fl oz/18ml BONDER BASECOAT	36 EA 432 EA	414
75 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	108 EA	437-439
76 24270	ORLY TRT .6fl oz/18ml POLISHIELD	612 EA	415-431
77 24310	ORLY TRT .6fl oz/18ml SEC N' DRY	180 EA	432-436.
78 2440013	ORLY TRT .6fl oz/18ml ONE NIGHT STAND	108 EA	455-457.
79 24340	ORLY TRT .6fl oz/18ml FLASH DRY	504 EA	651-664.
80 23800	ORLY ESS NAIL RESCUE KIT	108 EA	699-701.
81 24710	ORLY ESS 18pc .17oz/5g BRUSH-ON NAIL GLUE	20 CN	463
82 23135	ORLY ESS 2fl oz/59ml NAIL LACQUER THINNER	144 EA	413
83 23113 84 23114	ORLY 4fl oz/118ml GENIUS ALL PURPOSE REMOVE	48 EA	470-471.
85 23114	ORLY 16fl oz473ml GENIUS ALL PURPOSE REMOV ORLY 32fl oz946ml GENIUS ALL PURPOSE REMOV	48 EA 120 EA	466-469. 472-501.
86 2460001	ORLY BRTHABLE TRT.6fl oz /18ml PROTEIN BOOST	108 EA	452-454.
87 2460002	ORLY BRTHABLE TRT.6fl oz /18ml CALCIUM BOOST	108 EA	458-460.
88 2060051	ORLY BREATHABLE .6fl oz /18ml AFTER HOURS	108 EA	200-202.
89 20949	ORLY BREATHABLE .6fl oz /18ml ALMOND MILK	324 EA	679-687.
90 2060069	ORLY BREATHABLE .6fl oz /18ml ARE YOU SHERBE	72 EA	203-204. 690-697
91 20908 92 20991	ORLY BREATHABLE .6fl oz /18ml BARELY THERE ORLY BREATHABLE .6fl oz /18ml BERRY INTUITIVE	288 EA 72 EA	205.206
93 2060068	ORLY BREATHABLE .6fl oz /18ml BURST YOUR BUB	72 EA 72 EA	207.208.
94 2060015	ORLY BREATHABLE .6fl oz /18ml CHERRY BOMB	108 EA	209-211
95 20989	ORLY BREATHABLE .6fl oz /18ml CRYSTAL HEALIN(180 EA	674-678
96 20960	ORLY BREATHABLE .6fl oz /18ml DE-STRESSED DE	36 EA	212
97 20959	ORLY BREATHABLE .6fl oz /18ml DETOX MY SOCKS	36 EA	213
98 2060072	ORLY BREATHABLE .6fl oz /18ml DON'T SWEET IT	72 EA	214-215
99 2010020 100 20951	ORLY BREATHABLE .6fl oz /18ml DOUBLE ESPRES: ORLY BREATHABLE .6fl oz /18ml DOWN TO EARTH	72 EA 72 EA	216-217 218-219
101 20990	ORLY BREATHABLE .6fl oz /18ml FLOWER POWER	72 EA	220-221
102 2010023	ORLY BREATHABLE .6fl oz /18ml FRESH CLOVE	72 EA	222-223
103 20917	ORLY BREATHABLE .6fl oz /18ml FRESH START	108 EA	224-226
104 2060071	ORLY BREATHABLE .6fl oz /18ml GIVE IT A SWIRL	72 EA	227-228
105 20961	ORLY BREATHABLE .6fl oz /18ml GOOD KARMA	36 EA	229
106 20910	ORLY BREATHABLE .6fl oz /18ml HAPPY & HEALTH'	144 EA	670-673.
107 20992 108 20918		72 EA	230.231 232.233
109 20953	ORLY BREATHABLE .6fl oz /18ml JUST BREATHE ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	72 EA 396 EA	232.233
110 20909	ORLY BREATHABLE .6fl oz /18ml LIGHT AS A FEATH	252 EA	245-251
111 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	252 EA	252-258
112 20962	ORLY BREATHABLE .6fl oz /18ml MANUKA ME CRAZ	72 EA	259-260
113 20958	ORLY BREATHABLE .6fl oz /18ml MORNING MANTR.	252 EA	261-267
114 20919	ORLY BREATHABLE .6fl oz /18ml NAIL SUPERFOOD	36 EA	268
115 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTH	72 EA	269-270
116 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUD	144 EA	271-274 688.689
117 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLIC	72 EA	275-291
118 20913 119 20988	ORLY BREATHABLE .6fl oz /18ml PAMPER ME ORLY BREATHABLE .6fl oz /18ml PATIENCE AND PE	612 EA 144 EA	292-295
120 20965	ORLY BREATHABLE .6fl oz /18ml PEP IN YOUR STE	72 EA	296-297
121 20906	ORLY BREATHABLE .6fl oz /18ml POWER PACKED	108 EA	298-300
122 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	324 EA	301-304.465.6
123 2010018	ORLY BREATHABLE .6fl oz /18ml RICH UMBER	72 EA	305-306.
124 2060016	ORLY BREATHABLE .6fl oz /18ml RIDE OR DIE	108 EA	307-309
125 20966		216 EA	310-315
126 2060003 127 2060070	ORLY BREATHABLE .6fl oz /18ml SHIFT HAPPENS ORLY BREATHABLE .6fl oz /18ml SOUR TIME TO SH	36 EA 72 EA	316 317-318
128 20964	ORLY BREATHABLE .6fl oz /18ml STAYCATION	36 EA	319
129 2060002	ORLY BREATHABLE .6fl oz /18ml SUPERNOVA GIRL	36 EA	320
130 20954 131 2060073	ORLY BREATHABLE .6fl oz /18ml SWEET SERENITY ORLY BREATHABLE .6fl oz /18ml TAFFY TO BE HER	72 EA 72 EA	321-322 323-324
132 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	144 EA	325-328
133 20911	ORLY BREATHABLE .6fl oz /18ml TLC	108 EA	329-331
134 2010008	ORLY BREATHABLE .6fl oz /18ml TRAILBLAZER	72 EA	332.698
	OBLY BREATHABLE .6fl oz /18ml VITAMIN BURST	36 EA	333
	OF YORFATHABLE STOR /18ml WHITE TIPS	396 EA	334-344
137 200014 138 24903	ORLY BREATHABLE :off oz / 18ml YOU'RE A DOLL ORLY BREATHABLE :6fl oz / 18ml TREATMENT SHIN	72 EA 612 EA	345-346 347-363
139 34100	GEL FX TRT .3fl oz/9ml .NAIL TIP PRIMER	48 EA	347-303

632-639.
166
167-168.
169
640-644
170-172.
173-174.
175
176
177-184.
185-186.
187-189.
190-198.
414
440-451 437-439
415-431
432-436.
455-457.
651-664.
99-701.
463
403
70-471.
66-469.
72-501.
52-454.
58-460.
00-202.
79-687.
03-204. 90-697
90-697 205.206
205.206
07.208. 09-211
74-678
212
213
14-215
16-217
18-219
20-221
22-223
24-226
27-228
229
570-673.
230.231
232.233
34-244 45-251
252-258
259-260
261-267
268
69-270
271-274
688.689
275-291
92-295
96-297
98-300
01-304.465.666-669
805-306. 107-200
807-309
310-315
316 317-318
317-318
320
321-322
323-324
325-328
329-331
332.698 333
333-344
345-346
347-363
398



 $\begin{array}{c}1\\1\\1\\1\\1\\1\\2\\1\\1\\1\\2\\1\\1\\2\end{array}$



166 3423001	GEL FX TRT .3fl oz/9ml NO CLEANSE TOPCOAT	144 EA	4.56	656.64	3304.30.0000	USA
167 3350005	GEL FX PERFECT FIT NAIL FORM 300/PACK	24 EA	8.61	206.64	3304.30.0000	USA
168 3350001	GEL FX BUILDER ZEBRA FILE 5 PK	40 EA	5.85	234.00	8214.20.0000	KOREA
169 3350002	GEL FX BLDR BUFFER/FILE 5 PACK 180 GRIT/100	200 EA	5.25	1,050.00	8214.20.0000	KOREA
170 3350023	GEL FX FAST FORMS 120pc BOX	84 EA	7.29	612.36	3304.30.0000	CHINA
171 3013016	GEL FX .6fl oz/18ml KISS THE BRIDE	72 EA	6.7275	484.38	3304.30.0000	USA
172 3012009	GEL FX .6fl oz/18ml PINK NUDE	72 EA	6.7275	484.38	3304.30.0000	USA
173 3012474	GEL FX .6fl oz/18ml ROSE-COLORED GLASSES	72 EA	6.7275	484.38	3304.30.0000	USA
174 3012001	GEL FX .6fl oz/18ml WHITE TIPS	36 EA	6.7275	242.19	3304.30.0000	USA
175 30675	GEL FX CLR .3fl oz/9ml FIRST KISS	36 EA	4	144.00	3304.30.0000	USA
176 30935	GEL FX CLR .3fl oz/9ml JUST BITTEN	36 EA	4	144.00	3304.30.0000	USA
177 30008	GEL FX CLR .3fl oz/9ml LIFT THE VEIL	36 EA	4	144.00	3304.30.0000	USA
178 30484	GEL FX CLR .3fl oz/9ml LIQUID VINYL	36 EA	4	144.00	3304.30.0000	USA
179 32503	GEL FX FM .3fl oz/9ml POINTE BLANCHE	72 EA	3.9998611	287.99	3304.30.0000	USA
180 30971	GEL FX CLR .3fl oz/9ml POWER PASTEL	36 EA	4	144.00	3304.30.0000	USA
181 30943	GEL FX CLR .3fl oz/9ml STILETTO ON THE RUN	72 EA	3.9998611	287.99	3304.30.0000	USA
182 33001	GEL FX 4fl oz/118ml 3-in-1 CLEANSER	120 EA	2.3	276.00	3304.30.0000	USA
183 33011	GEL FX 16fl oz/473ml 3-in-1 CLEANSER	108 EA	5.37	579.96	3304.30.0000	USA
184 3350000	LED 900 FX CORDLESS GEL LAMP- WHITE	60 EA	119.4	7,164.00	8543.70.7100	CHINA
185 33527	ORLY SHORT DETAILER BRUSH	48 EA	3.75	180.00	9603.30.0000	CHINA
186 33528	ORLY STRIPER BRUSH	40 EA	3.75	150.00	9603.30.0000	CHINA
187 20926	ORLY LAQ .6fl oz/18ml FORGET ME NOT	14 EA	2.205	30.87	3304.30.0000	USA
188 2000099	ORLY LAQ .6fl oz/18ml SYNTHETIC SYMPHONY	2 EA	2.205	4.41	3304.30.0000	USA
189 2060009	ORLY BREATHABLE .6fl oz /18ml EARL GREY	36 EA	2.31	83.16	3304.30.0000	USA
190 20950	ORLY BREATHABLE .6fl oz /18ml HEAVEN SENT	36 EA	2.31	83.16	3304.30.0000	USA
191 2060006	ORLY BREATHABLE .6fl oz /18ml MOON RISE	36 EA	2.31	83.16	3304.30.0000	USA
192 2010013	ORLY BREATHABLE .6fl oz /18ml CONGNAC CRUS	36 EA	2.31	83.16	3304.30.0000	USA
					The second of the second s	

Line Total	94,689.02
TOTAL INVOICE	94,689.02

Currency: USD

CORPORATION SOFAL 1977 ALIFORNIA 1977



